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Teacher’s Copy                       Date Used ________________________ 

Topic: Decimals 

Sub-topic: Multiplying decimals by powers of 10 

Objective: The student can multiply decimals by powers of 10. 

Riddle: The more there is, the less you see. What is it? 

Answer: Darkness 
Student Instructions  Solve the following questions and make up 20 questions of your own. 

 
1.  10 x .7 = 7 21.  

2.  10 x .07 = .7 22.  

3.  .007 x 100 = .7 23.  

4.  .07 x 10 = .7 24.  

5.  .07 x 1000 =70 25.  

6.  10 x 10 x .07 = 7 26.  

7.  .532 x 1 = .532 27.  

8.  10 x .532 = 5.32 28.  

9.  100 x 10 x .001 = 1 29.  

10.  105 x .0087 = 70 30.  

11.  .7650 x 10 000 = 7650 31.  

12.  10 x .65 x 102 x 1 = 650 32.  

13.  .00723 x 100 000 = 723 33.  

14.  .290 x 1 x 100 = 29 34.  

15.  2.09 x 10 = 20.9 35.  

16.  5.001 x 102 =500.1 36.  

17.  3.6 103 = 3600 37.  

18.  .1000 x 10 = 1 38.  

19.  103 x .200 =200 39.  

20.  .49000 x 10 x 102 = 490 40.  
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Topic: Decimals 

Sub-topic: Multiplying decimals by powers of 10 

Objective: The student can multiply decimals by powers of 10. 

Riddle: The more there is, the less you see. What is it? 

Answer:  
Student Instructions  Solve the following questions and make up 20 questions of your own. 

 
1.  10 x .7 = 21.  

2.  10 x .07 = 22.  

3.  .007 x 100 = 23.  

4.  .07 x 10 = 24.  

5.  .07 x 1000 = 25.  

6.  10 x 10 x .07 = 26.  

7.  .532 x 1 = 27.  

8.  10 x .532 = 28.  

9.  100 x 10 x .001 - 29.  

10.  105 x .0087 = 30.  

11.  .7650 x 10 000 = 31.  

12.  10 x .65 x 102 x 1 = 32.  

13.  .00723 x 100 000 = 33.  

14.  .290 x 1 x 100 = 34.  

15.  2.09 x 10 = 35.  

16.  5.001 x 102 = 36.  

17.  3.6 103 = 37.  

18.  .1000 x 10 = 38.  

19.  103 x .200 = 39.  

20.  .49000 x 10 x 102 = 40.  

 


